
① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

5 3 3 4 7
8 8 7 7 7

⑮ 0. 4 ⑯ 3 7

× 1. 5 × 4. 3

2 0 1 1 1

4 1 4 8

0. 6 0 1 5 9. 1

⑰ ⑱

７

７ ０.４ ６ ６

）２８０ ）０.８４

２６６ ７２

１４ １２ ０

１０ ８

⑰ １２ ０

１０ ８

⑱ １２

No.１３

　５ 年  　組　   番　名前（　　　　　　           　　　　　　　　　　　）

２８＋７２＝１００ ６＋０.５＝６.５

１３２－１２４＝８ ９－０.７＝８.３

２７×３４＝９１８ ５２×４１＝２１３２

９.３×０.８＝７.４４ ７.３×０.６＝４.３８

１４÷０.７＝２０ ６８.４÷３６＝１.９

⑬ 1 － ＝ ⑭ ＋

６＋０.５×２＝７ ３＋２×４＝１１

＝

商は一の位まで求めて，あまり
もだしましょう。

四捨五入して，上から２けたの概数
を求めましょう。

＝ 1

０.４７

３.９ １.８

７あまり１.４



① ② ３＋０.７＝３.７

③ ④ ８－０.４＝７.６

⑤ ⑥ ３７×１４＝５１８

⑦ ⑧ ５.４×０.６＝３.２４

⑨ ⑩ ４８.１÷１.３＝３７

⑪ ⑫ ５０＋１５０×２＝３５０

7 2 5 4 7 11 2
6 6 6 9 9 9 9

⑮ 0. 5 ⑯ 4 8

× 1. 6 × 3. 6

3 0 2 8 8

5 1 4 4

0. 8 0 1 7 2. 8

⑰ ⑱

２

４ ２.１５

）２４.５ ）５.１８

２０４ ４８

４１ ３８

２４

１４０

１２０

２０

No.１４

　５ 年  　組　   番　名前（　　　　　　    　　　　    　　　　　　　　）

１５３＋４９＝２０２

２４３－６５＝１７８

７２５×８＝５８００

２７×３.４＝９１.８

２０４÷４＝５１

⑬ － ＝ ⑭

８０－３０÷５＝７４

＋ ＝ ＝ 1

商は一の位まで求めて，あまり
もだしましょう。

四捨五入して，上から２けたの概数
を求めましょう。

約２.２

５.１ ２.４

４あまり４.１


